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CHILD DEVELOPMENT AND PEDAGOGY
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1.

(A)

For which of the following trial
and error method is more usefil 2

Skill achievement
(B) Collecting data
(€)

(D)

Memorising study

Ariving at a conclusion
Acting is an example of what type
of imitation ?

(A) Ideo-motor

(B) Deliberate

(C) Unconscious

(D) Sympathetic

The child’s ability to learn mainly

depends on which of the

following ?

(A) Environment

(B) Observation

(C) Excursion

(D) Maturation

What is necessary for mastery

learning ?

(A) Well organised teaching

(B) Removal of learning
difficulties

(C) Adequate time

(DY All the above
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vansc-uistory method is more
effective to study which of the

following problem-behaviour of a

child 7

(A) Classroom behavioural
problem

(B) Learning problem
(C) Family problem
(D) All the above

Which one is not a learning
method 7

(A) Observation
(B) Imitation
(C) Discovery
(D) Training

Which one of the following

statements 1s correct 7

(A) Mental development of the
child depends on his
environment only.

(B) Mental development of the
child depends on heredity
only,

(C) Mental development of the
child depends on both
environment and heredity.

(D) Mental development of the
child depends on his book-

based knowledge.
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What type of evaluation is OTET ?
(A) Diagnostic
(B) Formative
(C) Summative

(D) Placement

Generally what is the intelligence
quotient of slow learners ?

(A) Less than 60

(B) Between 60 and 80
(C) Between90and 110
(D) More than 110

What should a teacher do for

dual-class teaching ?

(A) Give task to both the classes
and maintain discipline sitting
at a central place,

(B) Teach in the higher class and
engage the monitor in the
lower class to maintain
disciphine.

Give task in the lower class
and teach in the higher class
and after sometime teach in
the lower class giving task in

the higher class.

(€)

(D) Engage a student of the
‘higher class in the lower class
and he himself teach in the

higher class.
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16. “&q 9@ 6Q19% ¢lal qg aga’” |16. “Child is like a tender plant™
- 92 QI a8 7 —~ Whose view 1s this ?
(A) 6gleaq) (A) Froebel
(B) gqeal (B) Rousseau
(C) feqsaia (C) Montessorie
(D) egqlealw (D) Pestalozzi
17. @68 a9 g&84w 130 ca6m, Gegie | 17. If the intelligence quotient of an
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of the following statements is
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(D) exladd gee (D) None of the above
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Which method is effective for
evaluation of both curricular and

co-curricular qualities ?

(A) Formative
(B) Diagnostic
(C) Comprehensive
(D) Summative

Which of the following pairs of
psychologist and the animal on
which he experimented to
discover his learning theory is
correctly matched ?

(A) Kohler - Chimpanzee
(B) Thomdike — Dog

(C) Pavlov — Rat

(D) Skinner — Cat

- What type of question should the

teacher ask to identify creative
children ?

(A) Divergent thinking
(B) Diagnostic -
(C) Convergent thinking

(I3} Activity-based -
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Answer the following questions choosing the correct alternatives given
(Q. No. 61 to 70) :

6l.

62.

63.

64.

63,

The room was full of __

(A) broken furnitures (B)
(C) alotof furniture (D)

He lived in a

(A) happy little thatched house (B)

(C) thatched little happy house (D)

—— are good friends.

(A) L heand yon & (B)
(C) You, he and I | (D)
Mira goes to school a bicyle.

(A) by (B)
(C) on (D)

some broken furnitures

many furnitures

little happy thatched house

thatched house little happy

He, I and you

You, I and he

with

m

Identify the grammatically acceptable sentence :

(A) How fine the weather is ? (B)

(C) How fine is the weather. (D)

SET - D [37]

How fine the weather is !
How fine the weather is.
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66. He was born
(A) at6 pm ona Sunday in 1970
(B) ona Sunday at 6 pm .in 1970
(C) in 1970 on a Sunday at 6 pm

{[j} at 6 pm in 1970 on a Sunday

67. There was no milk left in the vessel. The cat it all up.
(A) has drunk | (B) was drinking
iyt | (D) drank

68. 1 have to go for X-Ray.

A (B) an
(C) the (D) some
69. There are black clouds 1n the sly B .
(A) may rain (B) wallrain
(C) isgoing torain (D) mustrain
70. What Mrs. Ngﬂdi does these days _____ please her husband.

(A) don’t ~ (B) doesn’t
(C) didn’t (D) 1sn’t

SET-D [ 38] ; (Continued)
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—>  —> At
91. BCuU CB 49l ¢a@ 4689 (i
QMg 7

(A) 6esisE
B) 6§
(C) AGRERS|
(D) e=i&

92.

L
Lh

Frequency (@I8fige)
e SR s | Fed sl
i
T T T T T L]

LA
i
T

0 10 20 30 40 50 60 70 80
Class Interval (@*gugl)
RIER TR 69STF9 e 9’617
(Aj 2 lalaal
(B) @eaigia
(C) qasas

(D) Sgems
"SET -D

[43]

91. What geometrical figure is

—> -
represented by BC v CB ?
(A) Line-segment
(B) Ray

(C) Straightline

- (D) Angle
92. =
' gm
& 25 N
=
:hzﬂh- .
g 154 NN
: \ *
T 1047 -._% o W
"R §§h §h§
Y0 10 20 30 40 50 60 70 80
' Class Interval (@*R1g)

What is the above graph named

as 7
(A) Bargraph
(B) Histogram
AC) : Pie-chart
(D) Pi-::t::sgraf.rh
(Turn over)



93. ¢4 9asR
QEgE, deim 991 8 TYIey ﬁ@@
MINARE | 652 @Q@ 2GS 95 SR
QIE0EE 62N HT EIRY 698 SI99en
CLRED GON 2 9& 6Re |

(A) SN Q90 99, QUYL SI9T To
Lol

(B) <1992 Q199 &6, 2y aog
YRl

(C) s Q192 918, nis a1 qlee
959 geIge

(D) QIA9e Q199 ¢ AU soa
Yol

94. 00 WIS 6% | SRIel T giae | 94

6O AWl 0B 9
0, 6, 24, 60, *, 210

(A) 100
(B) 120

(C) 160

(D) 180 .
SET - D [44]
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e~ v pa€-chart shown
below and state which of the
expenditure is twice the expendi-
ture of which other item ?

(A) Expenditure on food is twice
of the expenditure on house
rent

(B) Expenditure on house rent is
twice the other expenditure

(C) Expenditure on food is twice
the expenditure of education
of children

(D) Expenditure on house rent is
twice the expenditure on
other items

Observe the sequence of
numbers given below. What
number will be there at the place
indicated by the star mark ?

0, 6,24, 60, *,210
(A) 100
(B) 120
(C) 160
(D) 180

f C’.amfnue::’) :






98.

99.

100

SET - D

14 62.80. ¢16] 8 62.91. 92 594 gce
MR g T 6229 1.5 69,8, eyics
I8 AQRID 696017 98 2IGRR QISR
g ARG 7

(A) 11
(B) 10
(C) 9
(D) 8

A8 66 969 9PN 6aE 8E 7
(A) QoI @@é

(B) Saa9ig Gee

(C) aaexian Bas

(D) gmsmia gye

69IISN AFIBRER QICRIT @Y T%e
FAIKIRE, SA0T CAAIRS G A9
GERIT IRER 2I6R | 692 AAeR6S
626615 ARRERH Zmh GRIKiG ORR,
0GR gY@ 60 QR YRR ARG
AERFED LR TR 2108 @89 ?

(A) 12
(B)
(C) 19

15

(D) 21

g3.

99.

100.

OTET-P-1/14-1

How many circular sheets of
radius 1.5 em can be obtained, at
the most, form a rectangular sheet
of paper of length 14 c¢m and
breadth 8§ em ?

(A) 11
(B) 10
© 9
D) 8

In which of the figures below, line
of symmetry exists ?

(A) Equilateral triangle
(B) Scalene triangle

(C) Right-angled triangle
(D) Obtuse-angled triangle

There are seven points in a plane
such that only three of them lie
along a line. How many lines can
be drawn in the plane to contain
at least two points out of the
points marked ?

(A) 12
(B) 15
(C) 19
(D) 21

(Continued)
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EaM 93 UL 1065 SRR Blohm 7
(A) S8R, G62d, RIS 8 YeaIR

(B) 3me, 9EaIe, 996 G QIFRIS
e

(C) TRIS, §EIL, MGRIY B AUISFTE

[ el

YEFIS, FERIY, AT IRIF B
G

(D)

ceee gefe 48 996Q 9869
2RIDAE AEY G6L 7

(A) OB699R JYT 9% 2606e 62
(B) <f69d Qgmae adid 189
(C) QI9Pe QIR IR UTLIS

(D) fRUEQINEEe 198 6IR19
ERlAR AY

Q64 SIS B% G0 261 GoR RINIE
FROER BEN AFL V67, 62 696 OET
PORRG Q6w 7

(i) <6aw8

(i) Qdieasd

(i) QEIEDIG

(A) (i) O&qe° (11) 8 (1) §R
(B) (ii) O e (1) @ (iii) @
(C) (1), (1) 8 (111) gw

(D) (i), (i) 8 (i) O

| L

133.

134

[56]

(©)

OTET-P-1/14-1

what are the subjects included
under Environmental Science ?

(A) Science, History, Language
and Geography

Science, Geography,
Mathematics and Political
Science

Science, (Geography,
History and Political Science
Geography, History, Political
Science and Language

(B)

(©)
(D)

Which is not the aim of studying
environmental studies at the
clementary education stage /

(A) To be aware of the
importance of environment

(BY To know the means of

balancing environment

Intensive use of the natural

resources

To learn the skill of value

oriented life style

(D)

A learner collected informations
about different professionals
working in his village. What
method did he follow ?

(1) Survey

() Observation

(i) Interview

(A) (i) is correct and (i1) & (ii1)
Are WIrong

(ii)is correct and (i) & (111)
are wrong

(i), (i1) and (ii1) are wrong

(B)

(C)

(DY (i), (ii) and (i11) are correct

(Continued)
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SET - D

USEFERNR 2 696 H qide ?
99l 654 684192 g4 ?

(A) RIQRER

(B) cabGies
(C) gegioEee
(D) salemtiae

G99 she 999 QEe gRuNees
UREERG gaIe A9Rg ?

(A) Q28 AR SE &9 |
(B) @980 69910 928 Q15K 6R% |

SR PIEMISEESE JRRiER 6aa
ST SIS REQ ?

(C)

¢ QEe 6291 6RIT FIaE
Sakl

(D)

6QE GRIG HIIEE TSNS €18 2ig ?
(A) egoaIl

(B) 98aia

(C) sgzam

(D) UGS

144,

145.

146.

[60]

OTET-P-1/14-1

Why is the formula for hvdrogen
H, ? This question belongs to
which category ?

(A) Knowledge-based
(B) Understanding-based
(C) Application-based
(D) Skill-based

For evaluating the answer of
which of the following questions
subjectivity is the least ?

(A) Describe the advantages of

1T,

Write two causes of water
pollution,

(B)

(C)

The plant gives out which
gas during photosynthesis 7.

(D)

Write one cause of decaying
of food.

Which type of food does contain
more energy 7

(A) Carbohydrates

(B) Proteins

(C) Fats

(D) Minerals

(Continued)
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148.

149.

150.

SET - D

ORI 606 69611 2Rge ?
(A) SR
2R
FIFE QEYIR

RRECEe

(C)
(D)
6QRE QYRS 651G 7

(A) ege

(B) <ug

(C) &aiRa

(D) msl

6965 FGYY AR198 928 288 Ze 7
(A) Qiegel

(B) ou@

(C) geag

(D) age

6RESE EREC Q99ds 9B 2igdg
=@ ?

(A) 28
(B) @I9%enaqaes
(C) aegegs

(D) QISR AeRIgalne

147,
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Chilika belongs to which
category ?

" (A) Zoo

145,

149,

150.

(B) Sanctuary

(C) National Park

(D) Biosphere Rescrve
Which is a bacterial disease ?
(A) Chicken pox

(B) Small pox

(C) Polio

(D) Cholera

Which is the largest internal
organ of human body ?

(A) Stomach
(B) Kidney
(C) Heart
(D) Liver

Which has more attraction
towards red blood corpuscles ?

(A) Oxygen
(B) Carbon dioxide
(C) Nitrogen

(D) Carbon monoxide
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